MEsthT

H¥R . SM5£38318
i 8 16 %

=q, - - i 1080201004
e 5% % 1 HBIMRDE A A e

Fr & #f {REAT/IVRAT ST 13 MEERR DR SHB - B XA
FRrERERER SEBG SEBABMEESERCHEBLAED) MEER/INDHR HEBTE
SHBLI TR DR BERXD 1TIREAE
REBN ih g X o |B/)VRHET
NFEREX IMRINERL
RFER X IMRAZERL

S8 EE

=

B 1

R
m EE-BIPER
EE e BE HARRE 1982/12/23
=S| ~ #RFEIER
B R R =
IEEEEE
m Eith 2R
EBETEX 1% XigA FA & b i E—TE (Bt
BERRHIRINE SE—ERR- EEIhX RS
B ith @ A 976.15 i B 1192 NTETL = 395.91
& ith /@ & m it 5% M@ & 395.91
m EYIEER
No. & &

U|lh|WIN| =

m fEE%IEHR 5L ER

15 &

AR Mgk B2 IR EME K | AR m = 15 &

i = I 2 ® &
e I I N P M M) | o SEEE

242 SR VESE sEL-kE RO | D 395.91 | 1982 A&

=2
o

==
28l N|jolun| s win| =

—
N

—
w

-
o

[y
(6]

—
(&)

—
N

-
[e]

-
o]

N
o

N
-

N
N

N
w

N
N




MsthT

% SHBEIMRYE M ES 1080201004
HESRAS4E TR | MEETROEE | OHR- B W5/ \53 48 SEBBTE
it BB &
(FM)
FRE SH2E SH3E SH4E (F/m) (A DH#TE]
BOA RIEEEEE(%) = 100.0 100.0
] 150.0
E—El 100.0 o :“’f —
FIFBRIEIA 7 /
E-BxxHE 50.0 y / /
ZOMOULA oo 77 | /A | 7 |
D2 SH3E Sil4E
(BEHE OS]
BOE OeiEEERE(%) = A 28.9 50.2 oo
HEE 5,724 4,067 6,110 =
o 5,724 4,067 6,110 10000
JEEIKER 2,283 2,271 2,755 10,000.0
(e 294 82 167  5,000.0
MY REIREERN 318 417 306 0.0
PN 1,309 1,297 1,293 SH2E SH3E S4eE
E¥EE(RIER
IEEBIER s R ) MEEEAE  (MEERRIEN (HETg)E
ITEEas 1,587
Zofth 1,520

Bz Y —E RRAHAR
TISE(L, ST

(fiEse S —EXRMIRR]

I AN AN AN
.EE 028 S35 SHl45 BEEEI 2K s BIEEE L
FAEEE X (") 365 365 365
RIS A) O FFE LR = 0= FIFIEHRTY
400.0 800.0
O
-
350.0 +— =" g L 700.0
v " 300.0 +— - 600.0
(EATMZNIR MEER] )/
250.0 +— - 500.0
0 0 0 1 1 1 200.0 {— L 400.0
150.0 +— - 300.0
| | | 100.0 +— - 200.0
0 5,000 10,000 15,000 20,000
50.0 +— - 100.0
| oIz R (F/m) |
0.0 ¥ r 0.0
SN2 SHI3E SH4E
FEROXIESUE - T < RIBATHERREYINILZHRE >
1. AissE f;f_f 2015 FRE ERESAY 98,978 | FM
2. = f;gg 2042 FE ERESAY 158,364 | FM




